s Jloi>| £l g9

) P(S)=) ((cmodao) (soio woliy)
P(D) = ((Fowd) S0l o)
. < P(A) <) suoliv plod 51 3 9

Y)P(AUB)=P(A)+P(B)-P(ANB)
P(A[1B) =+ il 405 jlwl woliw g9 B g A 51

P(AUB)=P(A)+P(B) I 4



-P(BNC)+P(ANBNC)
f) P(A) =)1—P(A)

d) P(A-B)=P(A)-P(AB)=P(ANB)
P(A)>P(B) 9 P(A-B)=P(A)—-P(B) oyl it BC A 5

$) P(AAB) = P(AUB)—P(AB) = P(A) + P(B)— YP(A ) B)
= YP(AUB)- P(A) — P(B)

Y) P(ANB)=P(AUB)=\-P(AUB)=1—P(A)-P(B)+P(ANB)



J—moil g — ﬁ‘fé,ud,agab,ubw‘pwdwmw' s JCo
w,é,:,_m,usuﬂdu.p', — ﬁ‘ﬁégﬂJgﬁ&ﬁglﬁw‘)é&'uﬂ
63 guuid J g8 slio! 90 31 S z.a,é &S 9l Jhoio! ol — ,a',a dgw Jod

Sowl )J&e

P(313)=V-P()—P(¥) +P(,N ) W

S T B
=> \————t—=—=—
Y f 5 W ¥



)

Wil P(B)=TP(A) 9 P(B—A)=—3 P(A-B)=— 51:Jls

P(A-B)=P(A)-P(A

P(B—A)=P(B)-P(A
Y b
P(A)-P(A(1B)= -

\e

P(A)-P(ANB)=—
YP(A)-P(A[]B) v

A¢ )Y
) <. . )
NB)=— Scwl jai> P(A UB) olsST
)Y
P =>
‘0
NB)=—
W
>:>YP(A)—A:>P(A)—izP(AﬂB)_L
F oW Y Y

= P(AUB)=P(A)+P(B)-P(ANB)=—+———=

\v WY WYY



